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Puzzle 1 (Medium, difficulty rating 0.59)

o|w|s|o|nfmlo| =~ _|—|wo|o]jn|<|~|m[ofw] _|ofofol~|s|ofcjw| =] Jo|<t|w]m|~|a]w©|o]|—
S < hars

o|af—]—|o|o|w|m|<]  Slo|c|wlo|m|ol<t~—]  Slo|w|—|~|o|ol—|<t[m]  Sleo|—|m]|w|o| o]~ |—| ]
o o o

—|o| o<t |~|w]o|fo] Slst|=|m|w|o[—|o|afo]  Si—|cu| st |m|w|o|o|o]  -Slo|~[~|o|—[<t|w|m|o
i\ o i\

o|<t|—|w|m|ol~[o|a|  A~[m|<|o|w|of—[wo|a]  Ho|~|w|o|o|—|ola|s] Foufw|o]o|m|—l~|<|©
= =] =

o|~|wla|<t| o] —|o|o %869412753 %289473516 %39164_{825
© © ©

afeo|o|o|—|~fm|to] _Joufo]—|~|o|m|o|of < A= || »|o|w| ]|~ o A~|©|~]|w|w]—|o| ™
A %] [%2])
© © ©

~|—[o]o|o|n|<[w]|m]  I|w|o|o|jm|o|s|a| =[] wlo|ola|of—|~|s|olw]  wl~|c|ofst|o|w]m|—[o
N ™ <

w|o|m~|o|<t||o]|— ol |||~ of<r|© olwo|—|o|m|ca|<t|o o]~ ol — |||~ m|o|w| <
X X X

~|o|a|mfwof—fo[~|o]  S|o[<|~[—|N|w]ojmlof  Sls|of~|w|ofof—|® le|@| S| ||~




